Math IV — UNIT 6 QUIZ 3: Verifying Trigonometric Identities
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l cosXx = 1 +Sin x = 0 3.} Common denominator first, then look for an identity. 3 l cosXx = 1 +Sin x = 0 3.} Common denominator first, then look for an identity.
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Unit 6: Sum & Difference and Double-Angle Identities TA

Sum & Difference Identities 2
Sum and difference identities can be derived from other identities. These four identities can be su ized with
the following two statements. 4=
sin (a@?)— siner cosf.(_)os asin ff *same signs*
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Recall that so far, you can only calculate the exact values of the sines and cosines of multiples of 5 and 3 .
These identities will allow you to calculate the exact value of the sine and cosine of many more angles.

EXAMPLES:
1. Evaluate sin75° by applying the angle addition identity for sine and evaluating each trigonometric

function:
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2. Evaluate cos 30° by applying the angle subtraction identity for cosine and evaluating each trigonometric
function:
cos (90° - 60°) =cos 90° cos 60 ° + sin 90 °sin 60 °
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*Makes sense with what we already know!



NOWYOU TRY:
3. Similarly, find the exact value of the following trigonometric expressions:
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